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1.$remote_addr ] $http_x_forwarded_for [TTTTT1T] ip[I0
2.$remote_user [TTTTTITTTTIT]

3.$time_local I OITITIIITIT]

4.$request [J [IT11TT url] httpIDO

5.$status ] IIIIIIIIIL 200(

6.$body_bytes s ent [TTTTTTTITTIIIIIIT]

7.$http_referer (T

8.$http_user_agent [TTTTTTTITITIIT]
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[static boolean is(int x) {
[Mreturn x%400==0 || (x%4==0 && x%100!=0);
ar

[static boolean is(int n) {
[Mif(n==1)

[ITreturn false;

[for(int i=2;i*i<=Math.sqrt(n);i++)
ITif(n%i==0)

(ITreturn false;

(return true;

0}

public class [I11] {

Opublic static void main(String[] args) {
[Tboolean[] is = new boolean[1000005];
[TIis[1] = true;//trdE[ 1111

fPr(int i=2;i<1000005;i++)

(Tif(tis[2])

[TITfor(int j=2%*i;j<1000005;j+=i)
(II1Tis[j] = true;
[IISystem.out.printin(is[20041]);

0
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public class _01[1] {

Opublic static void main(String[] args) {
[[IScanner in = new Scanner(System.in);
[[int m = in.nextInt(){1]

it n = in.nextInt();//1T]

imt[] dp = new intim+51;//(ITT1T1T]
for(int i=1;i<=n;i++) {

[ILint v = in.nextInt()FIM]

imEw = in.nextInt();//110

fBF(int j=m;j>=v;j--)

ITdplj] = Math.max(dpljl, dp[j-vl+w);
ik

[[ISystem.out.printin(dp[m]);

0}

import java.util.Scanner;

public class _[TTT] {

Opublic static void main(String[] args) {
[[IScanner in = new Scanner(System.in);
[Mint m = in.nextInt()[f]

it n = in.nextInt();//1T]

ift[] dp = new int[m+5];//ITTII11]
for(int i=1;i<=n;i++) {

[ILint v = in.nextInt(FIM]

imEw = in.nextInt();//110



forfint j=v;j<=m;j++)

[(I11dplj] = Math.max(dplj], dplj-v]+w);
ik

[IISystem.out.printin(dp[m]);

0}

gcd

[static int gcd(int a,int b) {
[(Mreturn b==07a:gcd(b,a%b);
0

lcm

[static int Icm(int a,int b) {
[(Mreturn a*b/gcd(a,b);
0y

[static void f(int[] a) {

[[int n = a.length;

[Mint I=0,r=n-1,ans=0[ATITI1]
While(l<=r) {

[Oint mid =1 + (r-1)/2;
[(Tif(ok(almid])) {

II0r = mid-1;

[IITlans = mid;

1}else

10 = mid+1;

i
[([System.out.printin(ans);
0}

0



[static boolean ok(int x) {
[Mreturn falsefAT1]
[

import java.util.Scanner;

public class [TT1T] {

Opublic static void main(String[] args) {
[[IScanner in = new Scanner(System.in);
[Mlint n = in.nextInt();

[[int[] sum = new int[n+1];

[[for(int i=1;i<=n;i++)

ITsumli] = sum[i-1] + in.nextInt(ATIT

0}

[Jstatic int n,m,cnt=0;

[static int[] f = new int[10005]; /IT111T] flil=i

a

[static int find(int x) {
Mif(f{x]==x)

(IMreturn x;

[Mreturn f[x] = find(f[x]);
0}

I

[static void union(int x,int y) {
[int a = find(x);

[Mint b = find(y);

[Mif(al=b) {

[(IIIffal = b;



MTcnt++;
}
ar

Biglnteger[] BigDecimal

import java.math.Biglnteger;
public class Main {
public static void main(String[] args) {
/I
Biginteger add1l = new BigInteger("10");
System.out.printin(addl.add(new BigIinteger("20")));

/M
Biginteger subl = new Biginteger("10");
System.out.printin(subl.subtract(new Biginteger("20")));

/1]
BigIinteger divl = new BigInteger("10");
System.out.printin(divl.divide(new Biglnteger("20")));

/1
Biginteger mull = new BigInteger("10");
System.out.printin(mull.multiply(new Biglnteger("20")));

/I
Biginteger remainl = new Biginteger("10");

System.out.printin(remainl.remainder(new Biglnteger("8")));

Zjannny
Biginteger mod = new BigInteger ("10");
Biginteger pow = new Biglnteger ("20");

System.out.printin(pow.modPow(pow,mod));

/I [T -1,[0111 1,0 odIm 0
Biginteger compl = new Biglnteger("10");

System.out.printin(compl.compareTo(new Biginteger("18")));

/NI



Biginteger powerl = new Biginteger("2");

System.out.printin(powerl.pow(10));

nnnnn
Biginteger minl = new BigInteger("2");

System.out.printin(minl.min(new Biginteger("-23")));

Zjannnnn
Biginteger max1l = new BigInteger("2");

System.out.printin(max1l.max(new Biglnteger("-23")));

/I
BigIinteger val = new Biglnteger("123");

System.out.printin(val.intValue());

/I
Biginteger gcd1l = new Biginteger("12");
System.out.printin(gcdl.gcd(new Biginteger("6")));

/M
Biginteger negl = new Biginteger("12");

System.out.printin(negl.negate());

/1]
Biglnteger and1l = new Biginteger("10");
System.out.printin(andl.and(new Biglnteger("1")));

/1]
Biginteger orl = new Biginteger("10");
System.out.printin(orl.or(new Biginteger("10")));

/I
Biginteger xorl = new Biglnteger("10");

System.out.printin(xorl.xor(new Biginteger("10")));

/I nII11 (0OI1m )
Biginteger decimall = new Biglnteger("12");
System.out.printin(decimall.toString(2));

Zjnnnnnnnn



Biginteger absl = new Biglnteger("-12");
System.out.printin(absl.abs());

/I 1
Biginteger testBitl = new Biginteger("4");
System.out.printin(testBitl.testBit(2));

/M 10
Biginteger movelLeftBitl = new Biglnteger("4");
System.out.printin(moveleftBitl.shiftLeft(1));

/M 10
Biginteger moveRightBitl = new BigInteger("4");
System.out.printIn(moveRightBitl.shiftLeft(-1));

/10
Biginteger not = new BigInteger ("10");

System.out.printin(not.not());

//valueOf()[1T]

annnnnnnnng
Biginteger negate = new Biglnteger ("10");

System.out.printin(negate.negate());

/I
Biginteger prime = new BigInteger ("10");
System.out.printin(prime.probablePrime());

System.out.printin(prime.nextprobablePrime());

package com.vivo.ars.util;

import java.math.BigDecimal;

/**

* IIIIITITT

*/

public class ArithmeticUtils {

Zannnnnnn
private static final int DEF_DIV_SCALE = 10;
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* I

*

* @param v1 [1T]
* @param v2 1]
* @return [I1111
*/

public static double add(double v1, double v2) {
BigDecimal bl = new BigDecimal(Double.toString(v1));
BigDecimal b2 = new BigDecimal(Double.toString(v2));
return bl.add(b2).doubleValue();

[

* I

*

* @param vl 111

* @param v2 1]

* @return [I1111T1

*/

public static BigDecimal add(String v1, String v2) {
BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(v2);

return bl.add(b2);

/**
* I
*
*@param vl [T]
*@param v2 [1]
* @param scale [I] scale 111
* @return 11111
*/
public static String add(String v1, String v2, int scale) {
if (scale < 0) {
throw new lllegalArgumentException(

"The scale must be a positive integer or zero");



BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(v2);

return bl.add(b2).setScale(scale, BigDecimal.ROUND_HALF_UP).toString();

/**

* I

*

* @param vl 111

* @param v2 [1]

* @return [I1111T1

*/

public static double sub(double v1, double v2) {
BigDecimal b1l = new BigDecimal(Double.toString(v1));
BigDecimal b2 = new BigDecimal(Double.toString(v2));
return bl.subtract(b2).doubleValue();

[k

* I

*

* @param v1 111

* @param v2 1]

* @return (111101

*/

public static BigDecimal sub(String v1, String v2) {
BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(v2);

return bl.subtract(b2);

[

* (I

*

*@param vl [I1]

*@param v2 [I]

* @param scale [J] scale [TT1

* @return [I1111T1

*/

public static String sub(String v1, String v2, int scale) {
if (scale < 0) {



throw new lllegalArgumentException(
"The scale must be a positive integer or zero");
}
BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(v2);

return bl.subtract(b2).setScale(scale, BigDecimal.ROUND_HALF_UP).toString();

[

* (I

*

* @param vl 111

* @param v2 1]

* @return [I11111

*/

public static double mul(double v1, double v2) {
BigDecimal bl = new BigDecimal(Double.toString(v1));
BigDecimal b2 = new BigDecimal(Double.toString(v2));
return bl.multiply(b2).doubleValue();

[

* 11T

*

* @param vl 111

* @param v2 1]

* @return [I1111T0

*/

public static BigDecimal mul(String v1, String v2) {
BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(v2);

return bl.multiply(b2);

/**

* [T

ES

*@param vl [T1]
*@param v2 1]

* @param scale [I] scale 111

* @return (I11171



*/

public static double mul(double v1, double v2, int scale) {
BigDecimal b1l = new BigDecimal(Double.toString(v1));
BigDecimal b2 = new BigDecimal(Double.toString(v2));

return round(b1l.multiply(b2).doubleValue(), scale);

/**
* I
*
*@param vl [I7]
*@param v2 [I]
* @param scale [I] scale [1T]
* @return [I11111
*/
public static String mul(String v1, String v2, int scale) {
if (scale < 0) {
throw new lllegalArgumentException(
"The scale must be a positive integer or zero");
}
BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(v2);
return bl.multiply(b2).setScale(scale, BigDecimal.ROUND_HALF_UP).toString();

/**

* T
* [0 10[TTTTIIITT]

*

* @param vl 111
* @param v2 1]

* @return [I1111T1
*/

public static double div(double v1, double v2) {
return div(vl, v2, DEF_DIV_SCALE);

¥

* M scale[IT]
* T




*

*@param vl [I1]

*@param v2 (1]

* @param scale [T

* @return [I1111T1

*/

public static double div(double v1, double v2, int scale) {

if (scale < 0) {

throw new lllegalArgumentException("The scale must be a positive integer or zero");

}
BigDecimal bl = new BigDecimal(Double.toString(v1));

BigDecimal b2 = new BigDecimal(Double.toString(v2));
return bl.divide(b2, scale, BigDecimal.ROUND_HALF_UP).doubleValue();

¥

* MM scale[IT]
* [T

ES

*@param vl [IT]
*@param v2 [I]
* @param scale [JTTITTITITIIT
* @return 11111
*/
public static String div(String v1, String v2, int scale) {
if (scale < 0) {
throw new lllegalArgumentException("The scale must be a positive integer or zero");
}
BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(vl);

return bl.divide(b2, scale, BigDecimal. ROUND_HALF_UP).toString();

/**

* I

*

*@param v [T
* @param scale [JTTTTTT]
* @return [TTIT11T

*/

public static double round(double v, int scale) {



if (scale < 0) {
throw new lllegalArgumentException("The scale must be a positive integer or zero");
}
BigDecimal b = new BigDecimal(Double.toString(v));
return b.setScale(scale, BigDecimal.ROUND_HALF_UP).doubleValue();

/**

* I

*

*@param v [T

* @param scale [ITTTT1T]

* @return [IIII110

*/

public static String round(String v, int scale) {
if (scale < 0) {

throw new lllegalArgumentException(
"The scale must be a positive integer or zero");

}
BigDecimal b = new BigDecimal(v);

return b.setScale(scale, BigDecimal.ROUND_HALF_UP).toString();

/**
* [0
*
*@param vl [I7]
*@param v2 1]
* @param scale [ITTTT1T]
* @return [
*/
public static String remainder(String v1, String v2, int scale) {
if (scale < 0) {
throw new lllegalArgumentException(
"The scale must be a positive integer or zero");
}
BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(v2);

return bl.remainder(b2).setScale(scale, BigDecimal.ROUND_HALF_UP).toString();



/**
* 11 BigDecimal

ES

*@param vl [T1]
*@param v2 1]
* @param scale [ITTTT1T]
* @return [
*/
public static BigDecimal remainder(BigDecimal v1, BigDecimal v2, int scale) {

if (scale < 0) {

throw new lllegalArgumentException(
"The scale must be a positive integer or zero");
}
return vl.remainder(v2).setScale(scale, BigDecimal.ROUND_HALF_UP);

/**
* I
*
* @param v1 111
* @param v2 [I1]
*@return[I] v1[I] v2[ [II true[I] false
*/
public static boolean compare(String v1, String v2) {
BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(v2);
int bj = bl.compareTo(b2);
boolean res;
if (bj > 0)
res = true;
else
res = false;

return res;



